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-RROELEA30mg=F4F> 2P 20mg=t FEELT + ¥ 6mg
- 7z v 2=V Tmg/H (12pg/h) = HOEL b 4 30 mg
-ROEALE A 30mg=FET L L L I5mg=FHE7 = v %= 0.3mg
AL vFE12mg/H=HErt 4 30mg
- TTL N7 4 v (TH)
0.12mg/H =30 mg MOR,0.24 mg=60 mg,0.48 mg=120 mg,”0.84 mg= 180 mg,”1.26 mg = 240 mg

| No. | IEf# | fEE BRI (HAGE) |

|---|:=-2] -]

01]2] LA 60mg (ZFHE30mg D 2 f5—>7 2 v 2 =D 1 mgX2=2mg|
102|3] €L b 4 90 mg 13FE¥HE 30 mg D 3 5 —FHEZ - E % D T 15 mg X 3=45 mg|
|03[3 [/t 3mg= % & 4 90 mg—Ha%it (30:20) TAF = F v 60 mg|
|04]4] e Fa 12 mg |3FH4E 6 mg D 2 f5—F L & 3 30 mg X 2=60 mg|
|05]45ff 2 mg=E 1 b 4 60 mg—#E FEN 1% 0.3 mg/30 mg 7z D T X2=0.6 mg|
|0613|#F HMP3 mg=%€ /L & 4 60 mg—4 F > 2 F % 60x20/30=40 mg|
|0712]4 %+ 40mg—F L b4 60mg— 7 = v % =)L 60/30=2 mg|
1083111 120 mg—##AKk - KT i3 E—60 mg|

0914 |8 8mg=FE 1t % 240 mg—7 7L/ V7 4 VI 1.26 mg/H & Y —B& E=1.68 mg/H|*
[10[1 L 2 % 2 —(F3EFFDHT 10 %—30 mg X 0.1=3 mg|
111/2/150/30=>5 mg fif|

|12]2]FHEE L & 2 13RO 08 —20 X 2=40 mg &1 |

[13[3[HEff 1 mg—=Fr b4 30mg—t F 1 6mg]

[14[3[85FF 10 mg= E L & 300 mg—FHE HMP k(30 mg:1.5 mg) T 10 mg|
|15121F ¥+ 60 mg—E A & 3 90 mg (20:30 #25H) |

|16|2| B HEREM T < & #AKL[A U —60 mg—2 mg BifT|

1712138 L A ¥ = —5&t 30 mg—ERf+20 mg 23 H%|

118/111 HF 6 mg X 3 HAITH 1 H 6 mg|

119]4] % 1 & % 30 mg— & FENO.3 mg|

12013|e FrLXAF 2—=H&E 10%—24mgx0.1=2.4=4 mg|

|2113]#+FE HMP6 mg—E L & 4 120 mg—HEff 4 mg|
|22|2|85FF 5 mg—F L & A 150 mg|

12312] 2 % F v H 3:1—180/3 =60 mg|

124|3|# 00— TR —20X0.5=10 mg|

1253 |#F 30 mg—B5FF 3mg/H |

12613| & F @ 6 mg—FE /Lt 4 30 mg]

12713123 mg 1% 1.5 =50 %]

128121300/30 =10 mg Bfif+ |

129(12|F F+ 40— b 4 60—t Fu(60%X6/30)=12 mg|

130|3|##7E FENO.2 mg— it 0.2/0.3x 1 mg=0.67—%J 5 mg/H |
I31]1]E e 4 15 mg—4 F 4 2 mg|



[32[2| B fEECHIEHEF U —60mg—t F 2 8mg X T|
[33]3 |84} 12 mg—F L & % 360 mg]

134]4| & F v 18 mg—E A & 4 90 mg—fif) 3 mg|

13513 85f} 6 mg—E Lt 4 180mg— 7 7L 0.84 mg/H |
136]2|#HE 8 mg—E AL A 16 mg—7 7L 0.24mg/H |
13713| L 2 ¥ 2 —36 mg—EWi+30 mg 254 |

138[2] LA 60mg—F L4V 2.4mg]

1391|214 v 48mgX2—>F Nt 3 60mgl
140(2| F x4 ¥ 2.4mg—E Nt 3 30 mg—F F > 20 mg]
141]3]F =4 ¥ 9.6 mgX2—F Lt F 240 mg—fEiff 8 mg]

*OMEIZ 1.26 mg/H T AL, WHRAICIZ—B L 25T



